Reken Werkblad - Vermenigvuldigen met nullen (4E5)

Naam: Aantal goed:
Aantal fout:

Handig Vermenigvuldigen

5x5= 4 x3 =

50x 5 = 40 X 3 =
500 x 5 = 400 x 3 =

50 x 500 = 40 x 300 =
5000 x 5 = 400 x 3000 =
6X2= 8 X3 =

60 x 20 = 8 x 30 =

60 x 2000 = 80 x 300 =
6000 x 2 = 800 x 3000 =
600 x 200 = 8 x 30000 =

7 X7 = 5x8 =

70 x 70 = 50 x 80 =
700 x 700 = 500 x 8 =
70 x 7000 = 5000 x 80 =
700000 x 7 = 500 x 8000 =
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Reken Werkblad - Vermenigvuldigen met nullen (4E5)

Aantal goed:
Aantal fout:

Antwoorden

Naam:
5x5= 25
50 x5 = 250

500 x 5 = 2500
50 x 500 = 25000
5000 x 5 = 25000

6x2= 12

60 x 20 = 1200

60 x 2000 = 120000
6000 x 2 = 12000
600 x 200 = 120000

/7 x7 =49

/70 x 70 = 4900

/700 x 700 = 490000
/70 x 7000 = 490000
/00000 x 7 = 4900000

4x3 =12

40 x 3 = 120

400 x 3 = 1200

40 x 300 = 12000

400 x 3000 = 1200000

8x3 =24

8 x 30 = 240

80 x 300 = 24000

800 x 3000 = 2400000
8 x 30000 = 240000

5x8 =40

50 x 80 = 4000

500 x 8 =4000

5000 x 80 = 400000
500 x 8000 = 4000000
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